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Abstract Recently, real-time media delivery services such as video streaming and VolP have rapidly become popular. For

these applications requiring high-level QoS guarantee, our research group has proposed a transport-layer approach to provic

predictable throughput for upper-layer applications. In the previous paper, we have evaluated the performance of the propose

mechanism through simulation experiments and confirmed that the proposed mechanism can provide required throughput fo

TCP connections if the required throughput is not so large compared to the physical bandwidth, even when competing traffic

occupies almost all of the bottleneck link bandwidth. In the present paper, we implement the proposed mechanism and evaluatt
it in the actual network . We investigate the performance through the experiments both in the experimental network and the
commercial Internet environment, and validate that the proposed mechanism can achieve the required throughput with higt

probability as is the simulation results.
Key words TCP (Transmission Control Protocol), throughput guarantee, congestion control mechanism, implementation
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